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PROBABILITY

प्रायिकता



PROBABILITY

The set of all possible out comes of an experiment is called the sample space. Every 

out comes (element) of the sample space is called sample point.

प्रिोग के सभी संभायित सेटो ंको सैम्पल से्पसकहा जाता है। नमूना स्थान के प्रते्यक

आउट (तत्व) को नमूना य ंदु कहा जाता है।

P(E) =
𝑺𝒂𝒎𝒑𝒍𝒆 𝒑𝒐𝒊𝒏𝒕𝒔 (𝑺.𝑷.)

𝑺𝒂𝒎𝒑𝒍𝒆 𝒔𝒑𝒂𝒄𝒆 (𝑺.𝑺.)
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TYPE OF QUESTIONS

 Coins

 Dice

 Cards

 Balls (Marbles)

 Miscellaneous





\
If there are two children in a family, find the probability that there is at least one girl in the 
family.
ियद एक परििाि में दो  चे्च हैं, तो परििाि में कम से कम एक लड़की होने की प्रायिकता ज्ञात
कीयजए।

(A) 2/5 (B)1/6 (C)3/4 (D)3/7 (E)1/7



\
In a bag, there are 6 red balls and 9 green balls. Two balls are drawn at random, what is the 
probability that at least one of the balls drawn is red?
एक थैले में 6 लाल गेंदें औि 9 हिी गेंदें हैं। दो गेंदो ं को िादृच्छिकरूप से यनकाला जाता है, इसकी
क्या प्रायिकता है यक यनकाली गई गेंदो ं में से कम से कम एक गेंद लाल हो?

(A) 29/35 (B)7/15 (C) 23/35 (D)2/5 (E)19/35



\
Answer the following questions based on statement given below-
Two dice are rolled simultaneously. Find the probability of-
Getting at least one 5.
नीचे यदए गए कथन के आधाि पि यनम्नयलच्छित प्रश्ो ं के उत्ति दीयजए- दो पासे एकसाथ लुढ़के। की
प्रायिकता ज्ञात कीयजए-कम से कम एक 5 प्राप्तकिना।

(A)13/36 (B)11/36 (C)10/33 (D)11/35 (E)12/35



\
Two dice are thrown simultaneously. What is the probability of getting two numbers whose 
product is even?
दो पासे एकसाथफें के जाते हैं। ऐसी दो संख्याएँ प्राप्तकिने की प्रायिकताक्या है यजनका
गुणनफलसम है?

(A)1/6 (B) 1/4 (C)3/4 (D)1/2 (E)None of these



\
From a group of 10 persons consisting of 5 lawyers, 3 doctors, and 2 engineers, 4 persons are 
selected at random. The probability that the selection contains at least one of each category 
is:
5 िकीलो,ं 3 डॉक्टिो ंऔि 2 इंजीयनििो ं िाले 10 व्यच्छििों के समूह में से 4 व्यच्छििोंको
िादृच्छिकरूप से चुना जाता है। चिन में प्रते्यक शे्रणी में से कम से कम एक होने की प्रायिकता है:

(A)1/4 (B) 3/8 (C)2/3 (D)1/2 (E)None of these



\
In a bag 5-Red, 4-Green and 3-Black balls if 3-ball are drawn at random. What is the 
probability that all 3-balls are Red or 1 is Black and 2 are Green?
एक  ैग में 5-लाल, 4-हिीऔि 3-काली गेंदें हैं ियद 3-गेंद िादृच्छिकरूप से िीचंी जाती हैं।क्या
प्रायिकता है यक सभी 3-गेंद लाल हैं िा 1 काली है औि 2 हिी हैं?

(A)7/55 (B)5/8 (C)3/7 (D)17/24 (E)None of these



\
A committee of 5 people is to be formed from among 4 girls and 5 boys. What is the 
probability that the committee will have less number of boys than girls?
4 लड़यकिो ंऔि 5 लड़कोंमें से 5 लोगो ं की एककमेटी  नाई जानी है।क्या प्रायिकता है यक
सयमयत में लड़यकिो ंकी तुलना में लड़को ंकी संख्या कम होगी?

(A) 7/14 (B) 7/15 (C)6/13 (D)5/14 (E)7/13



\
Calculate the probability of forming different words in which letters of word ABJURED can 
be arranged so that vowels always comes together.
यियभन्नशब्ों के  नने की प्रायिकता की गणना कीयजए यजसमें ABJURED शब् के अक्षिो ंको
व्यिच्छस्थत यकिा जा सकता है तायकस्वि हमेशा एकसाथआएं।

(A) 1/6 (B)3/35 (C) 1/9 (D)1/7 (E)5/7



\
If 5 coins are tossed simultaneously find the probability of getting at least 2 heads?
ियद 5 यसक्ोंको एकसाथ उछाला जाता है तो कम से कम 2 यचतआने की प्रायिकता ज्ञात
कीयजए।

(A)3/16 (B)5/8 (C) 13/16 (D)5/16 (E)None of these



\
A bucket contains 2 red balls, 4 blue balls, and 6 white balls. Two balls are drawn at random. 
What is the probability that they are not of same color?
एक  ाल्टी में 2 लाल गेंदें, 4 नीली गेंदें औि 6 सफेद गेंदें हैं। िादृच्छिकरूप से दो गेंदें यनकाली
जाती हैं।क्या प्रायिकता है यक िे एक ही िंग के नही ं हैं?

(A)5/11 (B) 14/33 (C) 2/5 (D)6/11 (E)2/3



THANKS


